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Words from Icelandic and Catalan have presented cases that appear to show rule-ordering
paradoxes (Kenstowicz, 1994).

Catalan

‘grind’ ‘sell’

3sg. mol bEn
2sg. mol-s bEn-s
1sg. mol-k bEN
3sg. past mul-́ı@ bEn-́ı@

F Provide a rule-ordering account of the above.

Now consider the forms below. Note that the underlying form of ‘twenty’ is assumed to
be /bint/.

bint-@́ ‘twentieth’
bin ‘twenty’
bim pans ‘twenty breads’
biN kaps ‘twenty heads’

F What does this data say about the ordering of the rules you provided?
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Sundanese

In Sundanese, nasalized vowels are predictable.

1. akar ‘root’ 10. anõm ‘young’
2. abot ‘heavy’ 11. luhur ‘high’

3. amĩs ‘sweet’ 12. mãhãsiswa ‘student’
4. handap ‘light’ 13. mãke ‘to use’
5. awon ‘bad’ 14. mãrios ‘to examine’

6. konẽN ‘yellow’ 15. mĩãk ‘to stand aside’

7. mãh̃ir ‘skillful’ 16. ñiP̃ir ‘to pierce’
8. mõhẽhẽd ‘poor’ 17. mãhãl ‘to be expensive’
9. m@̃rri ‘duck’ 18. kumãh̃ ‘how’?

19. mãlak (hypothetical)

Now consider the data below which show singular and plural forms. The plural forms
are infixed with either [-ar-] or [-al-] (do not worry about which for now) after the initial
consonant.

singular plural

kusut karusut ‘messy’
g@tol gar@tol ‘diligent’
combrek calombrek ‘to dry’
nũgar nãlũgar ‘to dig up’

ñiP̃is nãr̃iP̃is ‘to cool oneself’
mõẽk@n mãrõẽk@n ‘to dry’

Does your current analysis make the right predictions? How can the infixation word forma-
tion process be organized with respect to the phonology to derive the plural forms?

Icelandic

Icelandic has a processes of [u]-epenthesis

dag+ur ‘day m.nom.sg.’ bæ+r ‘farm m.nom.sg.’
tek+ur ‘take 2/3sg.pres.ind.’ næ+r(D) ‘reach 2/3sg.pres.ind.’

It also has a process of j-deletion.
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bylj+ar ‘snowstorm gen.sg.’ krefj+i ‘request 2pl.’
bylj+ir ‘snowstorm nom.pl.’ krefj+a ‘request 3pl.’
bylj+i ‘snowstorm acc.pl.’ krefj+um ‘request 1pl.’
bylj+a ‘snowstorm dat.pl.’ kref ‘request 1sg.’
bylj+um ‘snowstorm dat.pl.’ kref+ur ‘request 2/3sg.’
byl ‘snowstorm acc.sg.’
byl+s ‘snowstorm gen.sg.’
byl+ur ‘snowstrom nom.sg.’

F What kind of relationship (interaction/ordering) are these two processes in?

Icelandic also exhibits a process of u-umlaut.

barn ‘child’ börn-um dat.pl.
svangt ‘hungry’ svöng-u dat.sg.
kall-a ‘I call’ köll-um ‘we call’

The data below suggests how u-umlaut interacts with u-epenthesis.

/harD+um/ hörDum ‘hard dat.pl.’
/kalla+um köllum ‘call 1sg.’
/dag+r/ dagur ‘day nom.sg.’

F How do the two processes interact?

There is also a syncope process in Icelandic. While this process applies before case and
derivational endings, it does not before the enclitic articles -inn and -iD.

‘hammer’ ‘acre’ ‘head’ ‘day’ ‘kettle’ ‘gods’

nom.sg. hamar akur höfuD dag+ur ketil+l regin
dat.sg. hamr+i akr+i höfD+i dag+i katl+i ragn-a
inf. hamr+a
dat.pl. ökr+um kötl+um rögn+um
def.nom.sg. hamar#inn akur#inn höfuD#iD dag+ur#inn

F Now what does the analysis look like?
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